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Note:- This paper is of forty (40) marks containing three (03)
Section A, B and C. Learners are required to attempt
the questions contained in these sections according to

the detailed instructions given therein.

UkVI&TE Ue—a= =melid (40) 3fdT &1 & S diF (03)
el ‘@, @ qur T, # fowfea 21 RrenfE
3T 37 @uer ¥ Ry Ty fRga B & ogaR
g gel & IR o B |

Section-A/[k.M&d
(Long Answer Type Question) / 4nh?k mUkjh; " ul

Note:- Section ‘A’ contains four (04) long-answer-type

questions of Nine and Half (9%) marks each.

Learners are required to answer any two (02)

guestions only. (2x9%=19)
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UkVI& s ‘& # TR (04) <TH ST U R T € |
JAd U & fog A1¢ Al (9%) sfw FeiRa 1
fRrefeial & g7 # & daa a1 (02) U b SN

o g |
1. Write an essay on Genetic code.
JTERied e W U ey forfay |
2. What are restriction enzymes and why are they so

important in rDNA technology?

gfddel TwTgd T 8?7 3R IR Sl TA. T
qdbld H 9 ga- He@yul I B ?

3. What is totipotency? Describe in detail various

application of plant tissue culture.

Sl F1 §, URY FHdd daEd b
AN & fIgd SeRT <R |

4. Define Biotechnology and elaborate its environmental

and industrial applications.

Slaueifer @ oRuifld &R iR 9o
qgieRefiy gd sienfier sguarn wR o fawgd
o ford |
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Section-B/[k-M&[k
(Short Answer Type Question)/ iy 2k mUkjh; i ul

Note:- Section ‘B’ contains eight (08) short answertype
questions of Four (04) marks each. Learners are
required to answer any four (04) questions only.

(4x4=16)

UkVi& @ve @' #H 3fme  (08) ofg ST U U T

21 UG g & fog @R (04) i FRiRa §
RERR & 37 ¥ W dae AR (04) U B
IR T % |

1. What is overlapping gene?

Sffereamdt Si= @m € 2

2. Write a short note on protoplast culture.
GIeieRe Saed IR Ud wferd femoft fo |
3. What is genomics library?

AT g |7 7§ ?
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4. Write a short note on any one of the following:

= & 9 ol ve w wfera ool for |
(M Degeneracy of Codon

PreM 1 fagfy
(i) Wobble Hypothesis

Aol UREGT

5. What is genetic variability?

At aRacd-efiadr & 57
6. Write a note on any transgenic plant.

foell T graoi-ie urey WR fewoft ford |
7. Write a short note on Okazaki fragments

SMpTolld] Wusl TN Tdh wdfera fewoft forlRau |

8. What is operon model?

TR dfeel RT 8 7
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Section-C@ [k-M&x
(Objective Type Questions) koLrfu'B 1"uk

Note:- Section ‘C’ contains ten (10) objective type
questions of Half (*2) marks each. All the questions

of this section are compulsory. (10x%%2=05)

UKVI& @me 1 # <9 (10) Sxgfss T R W g
JAd U B U M (%) 3 FeiRa €1 59
Qug & A4 g Afard € |

Choose the correct option:
el fddwed &1 I+ Iy |

1. Genetic information does not flow from:
3TaRIe o &1 yaTe gl Brar a—
(i) DNAtORNA
(8. T9. T ¥ 3R UA. 1)
(i) R N A to Protein
((TR. TH. U. & UIc)
(i) Proteinto RN A
OIEF 9| R, UH. T.)
vy DNAtoDNA
(S T4 U ¥ S T Q)
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2. R I Plasmid occurs in:

IR, 3. IFHS Ul SIdl 28—

(i)  Agrobacterium (TR )

(i)  Rhizobium NESIERGE))
(iii)  Bacteriophage (STraropIStT #)
(iv)  Bacillus (sfrera )
3. Initiation codon is
URY de BIAT o—
(i) UAA (I T 1)
(i) UAG (@, T i)
(i) UGA @ o 1)
(iv), AUG (@ g, i)
4. Ability of a cell to develop into complete organism is
called.
St H fIPRId 8 darell BIRIeT Bl e
PHEATI B—:
(1) Cloning
(et
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(i) D N A Fingerprinting
@6 . T R fOfe)
(iii) Cellular totipotency

(HeeR TremcH)
(iv) Mitosis
(ATSeIR)
5. Nucleoside consists of:
frteiarge # U S &
(1) Sugar and Nitrogenous base
(BRI T ATZEISHI &)

(i) Sugar, Nitrogenous base and Phophate

(DT, AL &R Ud Hidhe)
(i) Only Phosphate

(@aeT HIHT)
(iv) Sugar and Phosphate

(BT TG BRWT)

6. I.C.G. E.B.islocated in..........

S, AL S 8 Al ¥ Rerd 2|
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7. Name two types of operons.......

Tl YBR & IMUR ..o & 9 forfRgu |

8. Role of nonsense codon in protein synthesis is.......

YET GIAYOT H A4 =T BISH BT B ...,
BIAT B |

9. In protein, amino acids are linked together
by bond.
OIEH H ST 3F U TR W oo T |
IS IEd T

10. Nucleosome is made up of.........

*kkkk
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